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I
0

I r2+yS+Dx+Ey+F  = 0
I

. . . . . , . . . . . . (4.2.3)
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2 ,-,2  2 2
-!-Ds+-+fy +Eyt i-

D2  E2
x =

4 4
7+7-F

,
(2, -y a asia1AnmuLmnal a point circle Vi?a circle of zero radius (amw.Gsu”
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(x2-2x+1  ) +$-69-t-9)  = 15+  I G-9

L-11)2+(y--3)2  = 2 5
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h l,Ic=:~,r  =5=

(z-1  )3*(J  = ST
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f. I IiQ = v,13c”*2 +Ds,+E~:tF . . . . , . . . . . . . bL2.5;
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2 2
I +y +2\;+y--3  = 0

MA 109

! II’Q =
! ! ?

t’s +Q  +2x8+4-3
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bbUU%Wik  4 . 1

1.3

1.4

1.5

1.6

1.7

I .a

>. (5, !2j  ,!

. . (0, 0) ).

?, (I. -I) .,

., c-u,  -5) -:.

., (a,  23) .1

1. (3, b) .  .

= 7 "

zz .I 3

TX 9

= 2

= 6

= &a
= b

1.10 ), P(2,  -1) )) Q(I, -2)
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2. ?JB1~R$&lQlJ  LLi&&~J?JflPUddd~

2.1 a2+y2--8x-2y+13 = 0

2.2  x2+y2+2 < Ir2x+2 3y-95  = 0

2.3 x2+y2-4x+2y-20  = 0

2.4 x2+y2+6x+8y+24  '= 0

2.5 x2*y2-6x-166y*73  = 0

2.6 4x2+4y2-4x+20y+36  c 0

2.7 x2+y2+6x-,2y+20 = 0 I

2.8 x2+y2  -8x+6y+25  := 0

2.9' x2+y2+7x+3y-IO := ' 0

2.10 2x2+2y2-5x-9y+l1  = 0

2.11 x2+y2-6x-8y  = 0

2 . 1 2  x2+y2+4x+3  = 0

5. W&  2 . 7  FlJM,?n”‘slaDJ7Jn~u~~~LU”U  3x-y+5  = 0

6. WVl+WlJ?Jnti~  x2+y2-2x+I8y-87  = 0

ttaz  ~~+~~+,2~-22y-I 1 = 0
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9.1 x2+y2tOx+6y-21  = 0 ,  t-4,  5)

9.2 x2+y2-2x+Sy+7  = 0 ,  (-1.  -2)

9.2 x2+y2-x-*y---7  = 0 ,  (3, 0)

9.3 x2+y2+2x+6y+2  = 0 ,  t-3,  3)

(Circle  Determined by Three Conditions)

mumsn;lJaaJaJnn~F~~~lu~~~~~~~

2
(x-h)  +(y-k)

2 2
= r . . ...*. “...(4.3.1)

&I x2+y2+Dx+Ey+F  = o . . . . . . . . . . . (4.3.2)

2 kh~Lth.mY~UUUu  (4.3.1) UiBLLUU  (4.3.2) ‘i,Jl%&,,ft  3 6 &u”U
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55 3 13 1

A=6A=6 2 12 1

33 -1 1-1 1

= 5(2+1)-3(6-3)+1(-6-6)= 5(2+1)-3(6-3)+1(-6-6)

= 15-9-12

= -6

-34 3 1

A, = -40 2 1

-10 -1 1

ZZ -34(2+1)-3(-40+10)+1(40+20)

= -102+90+60

ZZ 48

5 i34 1

6 -‘lo 1

3 -10 1

A, =
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= d-40+10)+34(6-3)+1(-60+120)

= -150+102+60

= 12

5 ,3 -34

‘A,= 6 2 -40

3 -I -10

= d-20-40)~if-60+120)-34(-6-6)

= -3OO-18Ot408,

= -72

D = &I = 48
A ,6 = -8

F .=  2 = -I2
-6 = 12

x2+yz-8x,-2y+12  = 0 I mlu

(-r-h)2t(t-k)2  = r2 . . . . . . . . . . ..(l I

UW (l-l1)~+(3--k?  = r2 . . . . . . . . . ...(2)
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‘3in (I), 1+2h+h2+1-2kk+k2  = P . . . . . (3). . . . . .

m (z),  I-2h+h2+9-6k+k2 = r2 . . . . . . . . . . . . (4)

(3)--(u), ah--e+4k  = 0

h + k - 2  = 0  + k  = 2 - h

unufi1  r lu (3)'  ?LGi

2+2h+h2-2k+k2  =

=
h2+6hk+9kz

10

20+20hwh2-20k+10k2 = h2+6hk+9k2

9h2 -tihk+k2+20h--Ok+20 = 0 . . . . . . . ...” (5)

unutb  k ‘Lu (5)

~h2-6h(2-h)+(2-h)2+20h-20(2-h)+20  =  0

9h2-,  2h+6h2+b-ah+h2+20h--40+2Oh+20  = 0

16h2+24h-14  = 0

2h2+3h-2  z 0

(zh-l)(h+z)  = 0 ’

h = -2, !
2

rikh=--2, k = 24.2

= 4

&I h = I;,  k =
I

2 - -
‘. 2

3
= -

2
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WIJ~%&I  4.2

1. wm.m?Jnaudhu~” 3 -J”i+I7MU”lr;;oiElrlli

1.1 (0,  0). (- 4, OMO,  6)

1.2 c&3),  (- 1,7), (1,5)

2.2 EjlUyl(5,4)  unr  (2, - 1) ua,-~+mnlJo$JurciPr  7x - 2y - 1 = 0

2.3 p@hmJa@.u~u  2x - 5y  + 1 = 0 tta~~~~~fiur~u  4x - 3y  + 1 6

=:  Od3”(-1,4)

2.4 hqw  (- 2,7)  UR::  I(-  4, - 1) i&d  = m

2.5, thya (2,2)  ttx (-2,6)  tttxx-%hfi~t&u  x - 3y  = 0

2.6 h.qc~ (- 8, - 1) ttrJ~~~wkfiuttnultlElof~tuQl~~  2

2.7 dgquhnlJtdoufiu  x1 + y1 - 5x  + 3y  = 0 ttn:~tiuwkn”ytCru x - y + 1

= 0

2.8 ~whfi~ttnuY&a  (0,3)  ttashuga (8, - 1)

3 .  ilJImwllm~Jt~u~aJ~~ aJnnuAi7nunlfl  rLt ydi7nuald

3.1 x2  + y=  + 2x-4y = O,p(l,  3)

3.2 x2  + yz-3x  + 2y-7 = O,P(-1,  1)

3.3 x3 + y’ + 5x - 6y  .- 21 = 0, ~(2,  - 1)

3.4 x2  + y2 + 2x - 19 = 0, P(=3,4)

4. wmpvhmrm~u  x2 + y2- 2x = 0 ttn:  x2 + ya-4x-4y + 4 = 0

5. ilJMlaunlruEIJ?Jn~~~~~~~~~IlULVI~”~Jdbi?U~JJW,~~,~~~~~~~~~~~~~~

5.1 x-y + 2 = 0,3x-4y  + 11 = 0 tmz:x-3y + 8 = 0

5.2 x + 3y-9 = 0,x + 7y-29  = Otwx + y-5  =  0
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